
	
  

€	
  	
  
Monnaie	
  
unique	
  

BCE	
  
Unicité	
  politique	
  

monétaire	
  

Unicité	
  politique	
  vis-­‐à-­‐
vis	
  de	
  l’inflation	
  

Unicité	
  politique	
  de	
  
change	
  

Si	
  différentiel	
  des	
  taux	
  d’inflation	
  
entre	
  pays	
  membres	
  

avec	
  taux	
  d’inflation	
  moyen	
  à	
  
1,5%	
  

Si	
  différentiel	
  de	
  
spécialisation	
  /	
  

compétitivité	
  entre	
  
pays	
  membres	
  

BCE	
  mène	
  une	
  
politique	
  monétaire	
  

expansive…	
  	
  
(æ	
  taux	
  directeurs)	
  

qui	
  convient	
  aux	
  
pays	
  à	
  inflation	
  =	
  ou	
  

<	
  2%	
  

qui	
  pénalise	
  pays	
  à	
  
inflation	
  >	
  2%	
  

Ex.	
  années	
  2000	
  
Bulle	
  immobilière	
  et	
  

endettement	
  
excessif	
  en	
  Espagne,	
  

Grèce…	
  

Divergences	
  
macroéconomiques	
  

entre	
  pays	
  
membres	
  

Appréciation	
  de	
  l’€	
  

æ	
  Compétitivité-­‐prix	
  
des	
  firmes	
  

exportatrices	
  

Solution	
  :	
  mettre	
  en	
  œuvre	
  des	
  règles	
  (Traités)	
  pour	
  
faire	
  converger	
  les	
  taux	
  d’inflation	
  et	
  des	
  politiques	
  

structurelles	
  pour	
  faire	
  converger	
  les	
  salaires	
  réels	
  et	
  les	
  
productivités	
  afin	
  que	
  la	
  politique	
  monétaire	
  unique	
  

convienne	
  à	
  tous	
  les	
  pays	
  membres	
  et	
  exerce	
  ses	
  forces	
  
centripètes	
  plutôt	
  que	
  centrifuges	
  =	
  

	
  

Critères	
  de	
  Maastricht	
  (avant	
  €)	
  +	
  PSC	
  (après	
  €)	
  
Politiques	
  budgétaires	
  ?	
  Politiques	
  structurelles	
  ?	
  

Si	
  BCE	
  mène	
  une	
  
politique	
  monétaire	
  

restricitive…	
  	
  
(ä	
  taux	
  directeurs)	
  

Flux	
  internationaux	
  
de	
  capitaux	
  


